Gen. Math. Notes, Vol. 25, No. 1, November 2014, pp.33-42
ISSN 2219-7184; Copyright © ICSRS Publication, 2014
www.i-csrs.org
Available free online at http://www.geman.in

# Power Type $\alpha$-Centroidal Mean and Its Dual 

Sandeep Kumar ${ }^{1}$, V. Lokesha ${ }^{2}$, U.K. Misra ${ }^{3}$ and K.M. Nagaraja ${ }^{4}$<br>${ }^{1}$ Department of Mathematics<br>Ac. I.T Bangalore-560 107, India<br>E-mail: sandeepkumar@acharya.ac.in<br>${ }^{2}$ Department of Mathematics<br>V.S.K. University, Bellary-583 104, India<br>E-mail: v.lokesha@gmail.com<br>${ }^{3}$ DOS in Mathematics<br>Berhampur University, Berhampur, Odissa<br>E-mail: umakantamisra@yahoo.com<br>${ }^{4}$ Department of Mathematics<br>JSS Academy of Technical Education, Bangalore-560 060, India<br>E-mail: nagkmn@gmail.com

(Received: 12-6-14 / Accepted: 21-8-14)


#### Abstract

The paper defines the power type $\alpha$-centroidal mean and its dual form in two variables. Some interesting results related to monotonicities as well have been obtained.

Keywords: Monotonicity, inequality, contra harmonic mean, centroidal mean.


## 1 Introduction

Mathematical means defined by pythagorean school are considered as the foremost contribution from ancient Greeks ([1], [11]). On the basis of propositions, four fundamental named means are specified as arithmetic mean, geometric mean, harmonic mean and contra harmonic mean.

Among the new means, an important mean which has engrossed the attention to explore, is the power mean.

Let $a, b>0$ be positive real numbers. The power mean of order $r \in \Re$ of $a$ and $b$ is defined by

$$
M_{r}=M_{r}(a, b)=\left(\frac{a^{r}+b^{r}}{2}\right)^{1 / r}
$$

for some particular value of $r$, we can get primary means as given below.

- $A=M_{1}(a, b)=\frac{a+b}{2}$,
- $G=G(a, b)=M_{0}(a, b)=\frac{\operatorname{Lim}}{k \rightarrow 0} M_{r}(a, b)=\sqrt{a b}$
- $H=H(a, b)=M_{-1}(a, b)=\frac{2}{\frac{1}{a}+\frac{1}{b}}$
which are named as arithmetic, geometric and harmonic mean of $a$ and $b$ respectively.

For $a, b>0$

$$
\begin{gather*}
L(a, b)=\left\{\begin{array}{cl}
\frac{a-b}{\ln a-\ln b} & a \neq b \\
a & a=b
\end{array}\right.  \tag{1.1}\\
I(a, b)=\left\{\begin{array}{cl}
e^{\left(\frac{a \ln a-b \ln b}{a-b}-1\right)} & a \neq b \\
a & a=b
\end{array}\right.  \tag{1.2}\\
H_{e}(a, b)=\frac{a+\sqrt{a b}+b}{3}  \tag{1.3}\\
H_{p}(a, b)=\left(\frac{a^{p}+\sqrt{a^{p} b^{p}}+b^{p}}{3}\right)^{\frac{1}{p}} \tag{1.4}
\end{gather*}
$$

are respectively called logarithmic mean, identric mean, heron mean and power -type generalized heron mean.

In [11], the definition of contra-harmonic mean on the basis of proportions is given by;

$$
\begin{equation*}
C(a, b)=\frac{a^{2}+b^{2}}{a+b} \tag{1.5}
\end{equation*}
$$

Many researchers have explored various means and their properties through the above said fundamental means(refer [3] - 9]), obtained some remarkable inequalities and identities. The mean inequalities collections are mentioned in [2]. In ([4], 6], [10]), the authors has defined oscillatory mean, $r^{t h}$ oscillatory mean and obtained some new inequalities. Further, obtained the best possible values of these means with logarithmic mean, identric mean and power mean.

Definition 1.1. [10] For $a, b>0$ and $\alpha \in(0,1)$, the oscillatory mean and its dual form are as follows;

$$
\begin{equation*}
O(a, b ; \alpha)=\alpha G(a, b)+(1-\alpha) A(a, b) \tag{1.6}
\end{equation*}
$$

and

$$
\begin{equation*}
O^{(d)}(a, b ; \alpha)=G^{\alpha}(a, b) A^{1-\alpha}(a, b) \tag{1.7}
\end{equation*}
$$

Definition 1.2. [1] For $a, b>0$, the extended mean is defined as

$$
E_{s, t}(a, b)=\left\{\begin{array}{cc}
\left(\frac{t\left(a^{s}-b^{s}\right)}{s\left(a^{t}-b^{t}\right)}\right)^{\frac{1}{s-t}}, & \text { if }(s-t) s t \neq 0, a \neq b  \tag{1.8}\\
\exp \left(-\frac{1}{s}+\frac{a^{s} \log a-b^{s} \log b}{a^{s}-b^{s}}\right), & \text { if } s=t \neq 0, a \neq b \\
\exp \left(\frac{a^{s}-b^{s}}{s\left(a^{s} \log a-b^{s} \log b\right)}\right)^{\frac{1}{s}}, & \text { if } s \neq 0, t=0, a \neq b \\
\sqrt{a b}, & \text { if } s=t=0 \\
a, & \text { if } a=b .
\end{array}\right.
$$

Definition 1.3. For $a>b>0$ centroidal means is defined as

$$
\begin{equation*}
E_{2,3}(a, b)=\frac{2}{3}\left(\frac{a^{2}+a b+b^{2}}{a+b}\right) \tag{1.9}
\end{equation*}
$$

In 8 K.M. Nagaraja et. al. have introduced the $\alpha$-centroidal mean and its dual as follows.

Definition 1.4. For $a, b>0$ and $\alpha \in(0,1), \alpha$-centroidal mean and its dual form are respectively defined as follows:

$$
\begin{equation*}
C T(a, b ; \alpha)=\alpha H(a, b)+(1-\alpha) C(a, b) \tag{1.10}
\end{equation*}
$$

and

$$
\begin{equation*}
C T^{(d)}(a, b ; \alpha)=H^{\alpha}(a, b) C^{1-\alpha}(a, b) \tag{1.11}
\end{equation*}
$$

This motivates us to study power type $\alpha$-centroidal mean and its dual. Also we have established some fascinating results and inter-related inequalities.

## 2 Power Type $\alpha$-Centroidal Mean and its Dual

In this section, the power type $\alpha$-centroidal mean and its dual are introduced as follows.

Definition 2.1. For $a, b>0$ and $\alpha \in(0,1)$, power type $\alpha$-centroidal mean and its dual form are respectively defined as follows:

$$
C T(a, b ; \alpha, k)=\left\{\begin{array}{cc}
\left(\alpha H\left(a^{k}, b^{k}\right)+(1-\alpha) C\left(a^{k}, b^{k}\right)\right)^{\frac{1}{k}}, & \text { for } k \neq 0  \tag{2.1}\\
\sqrt{a b}, & \text { for } k=0
\end{array}\right.
$$

and

$$
C T^{(d)}(a, b ; \alpha, k)=\left\{\begin{array}{cc}
\left(H^{\alpha}\left(a^{k}, b^{k}\right) C^{1-\alpha}\left(a^{k}, b^{k}\right)\right)^{\frac{1}{k}}, & \text { for } k \neq 0  \tag{2.2}\\
\sqrt{a b}, & \text { for } k=0
\end{array}\right.
$$

Note : For $\alpha=\frac{1}{3}$ and $k=1$, the $C T(a, b ; \alpha, k)=E_{2,3}(a, b)$ is called as centroidal mean.

For $\alpha \in(0,1)$ the power type $\alpha$ - centroidal mean and its dual satisfies the following properties.

Property 2.1. Power type $\alpha$ - centroidal mean and its dual are means. That is

$$
\operatorname{Min}\{a, b\} \leq\left\{C T(a, b ; \alpha, k), C T^{d}(a, b ; \alpha, k)\right\} \leq \operatorname{Max}\{a, b\}
$$

Property 2.2. The means $C T(a, b ; \alpha, k)$ and $C T^{(d)}(a, b ; \alpha, k)$ are symmetric and homogeneous;

1. Symmetric:
$C T(a, b ; \alpha, k)=C T(b, a ; \alpha, k)$ and $C T^{(d)}(a, b ; \alpha, k)=C T^{(d)}(b, a ; \alpha, k)$.

## 2. Homogeneous :

$C T(a t, b t ; \alpha, k)=t C T(a, b ; \alpha, k)$ and $C T^{(d)}(a t, b t ; \alpha, k)=t C T^{(d)}(a, b ; \alpha, k)$.
Proposition 2.1. According to definition 2.1, the following characteristic properties for $C T(a, b ; \alpha, k)$ and $C T^{(d)}(a, b ; \alpha, k)$ are straightforward.

For a real number $\alpha \in(0,1)$,

1. $\min (a, b) \leq C T^{(d)}(a, b ; \alpha, k) \leq C T(a, b ; \alpha, k) \leq \operatorname{Max}(a, b)$.
2. $H(a, b) \leq C T^{(d)}(a, b ; \alpha, k) \leq C T(a, b ; \alpha, k) \leq C(a, b)$.
3. $C T(a, b ; \alpha, 1)=C T(a, b ; \alpha)$.
4. $C T(a, b ; \alpha, 0)=G(a, b)$.
5. $C T\left(a, b ; \frac{1}{2}, r\right)=M_{r}(a, b)$.
6. $C T\left(a, b ; \frac{1}{2}, k\right)=\frac{A(a, b)}{G(a, b)}=\frac{1}{H(a, b)}$.
7. $C T\left(a, b ; \frac{1}{2}, 1\right)=A(a, b)$.
8. $C T\left(a, b ; \frac{1}{3}, 1\right)=\frac{1}{3}(4 A(a, b)-H(a, b))$.
9. $C T\left(a, b ; \frac{2}{3}, 1\right)=\frac{2}{3}(C(a, b)+H(a, b))$.
10. $C T^{(d)}(a, b ; \alpha, 1)=C T^{(d)}(a, b ; \alpha)$.
11. $C T^{(d)}\left(a, b ; \frac{1}{2}, 1\right)=\frac{G(a, b)}{A(a, b)} \sqrt{A\left(a^{2}, b^{2}\right)}$.
12. $C T^{(d)}\left(a, b ; \frac{1}{2}, \frac{1}{2}\right)=\frac{2 G(a, b) A(a, b)}{A(\sqrt{a}, \sqrt{b})}$.
13. $C T^{(d)}\left(a, b ; \frac{1}{3}, 1\right)=\left(H(a, b) C^{2}(a, b)\right)^{\frac{1}{3}}$.
14. $C T^{(d)}\left(a, b ; \frac{2}{3},-1\right)=\frac{1}{\left(H(a, b) C^{2}(a, b)\right)^{\frac{1}{3}}}$.

## 3 Monotonic Results

In this section, the monotonic results of the power type $\alpha$-centroidal mean and its dual are studied.

Theorem 3.1. For $\alpha \in(0,1)$ a real number and for $a, b>0$,

$$
C T^{(d)}(a, b ; \alpha, k) \leq C T(a, b ; \alpha, k) .
$$

Proof. The proof of theorem 3.1 follows from well known power mean inequality:

$$
M_{r}(a, b)= \begin{cases}\left(\frac{a^{r}+b^{r}}{2}\right)^{\frac{1}{r}}, & r \neq 0  \tag{3.1}\\ \sqrt{a b}, & r=0\end{cases}
$$

Theorem 3.2. For $a, b>0$ and $\alpha \in(0,1)$, the power type $\alpha$-centroidal mean $C T(a, b ; \alpha, k)$ is an decreasing function with respect to $\alpha$.

$$
\begin{equation*}
C T(a, b ; \alpha+1, k) \leqslant C T(a, b ; \alpha, k) \tag{3.2}
\end{equation*}
$$

Proof. From definition 2.1,

$$
\begin{aligned}
C T(a, b ; \alpha+1, k) & =\left[(\alpha+1) H\left(a^{k}, b^{k}\right)+[1-(1+\alpha)] C\left(a^{k}, b^{k}\right)\right]^{\frac{1}{k}} \\
& =\left[(\alpha+1) H\left(a^{k}, b^{k}\right)+(-\alpha) C\left(a^{k}, b^{k}\right)\right]^{\frac{1}{k}} \\
& =\left[(\alpha) H(a, b)+H\left(a^{k}, b^{k}\right)+(-\alpha) C\left(a^{k}, b^{k}\right)\right]^{\frac{1}{k}} \\
& \leqslant\left[\alpha H\left(a^{k}, b^{k}\right)+C\left(a^{k}, b^{k}\right)+(-\alpha) C\left(a^{k}, b^{k}\right)\right]^{\frac{1}{k}} \\
& =\left[\alpha H\left(a^{k}, b^{k}\right)+(1-\alpha) C\left(a^{k}, b^{k}\right)\right]^{\frac{1}{k}} \\
& =C T(a, b ; \alpha, k) .
\end{aligned}
$$

Theorem 3.3. For $a, b>0$ and $\alpha \in(0,1)$, the power type $\alpha$-centroidal dual mean $C T^{(d)}(a, b ; \alpha, k)$ is an decreasing function with respect to $\alpha$.

$$
\begin{equation*}
C T^{(d)}(a, b ; \alpha+1, k) \leqslant C T^{(d)}(a, b ; \alpha, k) \tag{3.3}
\end{equation*}
$$

Proof. From definition 2.1,

$$
\begin{aligned}
C T^{(d)}(a, b ; \alpha+1, k) & =\left[H^{(\alpha+1)}\left(a^{k}, b^{k}\right) C^{[1-(1+\alpha)]}\left(a^{k}, b^{k}\right)\right]^{\frac{1}{k}} \\
& =\left[H^{(\alpha+1)}\left(a^{k}, b^{k}\right) C^{(-\alpha)}\left(a^{k}, b^{k}\right)\right]^{\frac{1}{k}} \\
& =\left[H\left(a^{k}, b^{k}\right) H^{(\alpha)}\left(a^{k}, b^{k}\right) C^{(-\alpha)}\left(a^{k}, b^{k}\right)\right]^{\frac{1}{k}} \\
& \leqslant\left[C\left(a^{k}, b^{k}\right) H^{(\alpha)}\left(a^{k}, b^{k}\right) C^{(-\alpha)}\left(a^{k}, b^{k}\right)\right]^{\frac{1}{k}} \\
& =\left[H^{(\alpha)}\left(a^{k}, b^{k}\right) C^{(1-\alpha)}\left(a^{k}, b^{k}\right)\right]^{\frac{1}{k}} \\
& =C T^{(d)}(a, b ; \alpha, k)
\end{aligned}
$$

## $4 \quad$ Some Inequalities

In this section, we obtain the Taylor's series expansions of various means by replacing $a=t$ and $b=1$ and inter-relate with known means with the best possible value for each relation.

$$
\begin{gather*}
A(a, b)=A(t, 1)=1+\frac{t}{2}  \tag{4.1}\\
H(a, b)=H(t, 1)=1+\frac{t}{2}-\frac{1}{4} t^{2}+\ldots,  \tag{4.2}\\
G(a, b)=G(t, 1)=1+\frac{t}{2}-\frac{1}{8} t^{2}+\ldots,  \tag{4.3}\\
C(a, b)=C(t, 1)=1+\frac{t}{2}+\frac{1}{4} t^{2}+\ldots,  \tag{4.4}\\
O(t, 1 ; \alpha)=1+\frac{1}{2} t+\frac{-\alpha}{8} t^{2}+\ldots  \tag{4.5}\\
O^{(d)}(t, 1 ; \alpha)=1+\frac{1}{2} t+\frac{-\alpha}{8} t^{2}+\ldots  \tag{4.6}\\
L(a, b)=L(t, 1)=1+\frac{t}{2}-\frac{1}{12} t^{2}+\ldots,  \tag{4.7}\\
I(a, b)=I(t, 1)=1+\frac{t}{2}-\frac{1}{24} t^{2}+\ldots,  \tag{4.8}\\
H_{p}(a, b)=H\left(t^{p}, 1\right)=1+\frac{t}{2}+\frac{2 p-3}{24} t^{2}+\ldots,  \tag{4.9}\\
H_{e}(a, b)=H_{e}(t, 1)=1+\frac{t}{2}-\frac{1}{24} t^{2}+\ldots,  \tag{4.10}\\
M_{r}(a, b)=M_{r}(t, 1)=1+\frac{t}{2}+\frac{r-1}{8} t^{2}+\ldots,  \tag{4.11}\\
C T(t, 1 ; \alpha)=1+\frac{1}{2} t-\frac{(1-2 \alpha)}{4} t^{2}+\ldots,  \tag{4.12}\\
C T(t, 1 ; \alpha, k)=1+\frac{1}{2} t-\frac{(3-4 \alpha) k-1}{8} t^{2}+\ldots,  \tag{4.13}\\
C T^{(d)}(t, 1 ; \alpha)=1+\frac{1}{2} t-\frac{(1-2 \alpha)}{4} t^{2}+\ldots,  \tag{4.14}\\
(t)=1+\frac{1}{2} t-\frac{(3-4 \alpha) k-1}{8} t^{2}+\ldots, \tag{4.15}
\end{gather*}
$$

From Theorem 3.1 and Taylor's series expansion of various means from 4.2 to 4.15, the following inequalities for $a, b>0$ and $\alpha \in(0,1)$ is computed.

Proposition 4.1. For $k_{1} \leq \frac{1}{3(3-4 \alpha)} \leq k_{2}$, the following double inequality holds

$$
\begin{equation*}
C T^{(d)}\left(a, b ; \alpha, k_{1}\right) \leq L(a, b) \leq C T\left(a, b ; \alpha, k_{2}\right) \tag{4.16}
\end{equation*}
$$

Further, $k_{1}=k_{2}=\frac{1}{3(3-4 \alpha)}$ is the best possible for 4.16).
Proof. From equations 4.2 to 4.15 , we have

$$
C T^{(d)}\left(a, b ; \alpha, k_{1}\right) \leq L(a, b) \leq C T\left(a, b ; \alpha, k_{2}\right)
$$

holds whenever, $\frac{(3-4 \alpha) k_{1}-1}{8} \leq \frac{-1}{12} \leq \frac{(3-4 \alpha) k_{2}-1}{8}$
on rearrangement leads to $k_{1} \leq \frac{1}{3(3-4 \alpha)} \leq k_{2}$.
Proposition 4.2. For $k_{1} \leq \frac{2}{3(3-4 \alpha)} \leq k_{2}$, the following double inequality holds

$$
\begin{equation*}
C T^{(d)}\left(a, b ; \alpha, k_{1}\right) \leq I(a, b) \leq C T\left(a, b ; \alpha, k_{2}\right) \tag{4.17}
\end{equation*}
$$

Further, $k_{1}=k_{2}=\frac{2}{3(3-4 \alpha)}$ is the best possible for 4.17).
Proof. From equations 4.2 to 4.15 , we have

$$
C T^{(d)}\left(a, b ; \alpha, k_{1}\right) \leq I(a, b) \leq C T\left(a, b ; \alpha, k_{2}\right)
$$

holds whenever, $\frac{(3-4 \alpha) k_{1}-1}{8} \leq \frac{-1}{24} \leq \frac{(3-4 \alpha) k_{2}-1}{8}$
on rearrangement leads to $k_{1} \leq \frac{2}{3(3-4 \alpha)} \leq k_{2}$.

Proposition 4.3. For $k_{1} \leq \frac{3}{(3-4 \alpha)} \leq k_{2}$, the following double inequality holds

$$
\begin{equation*}
C T^{(d)}\left(a, b ; \alpha, k_{1}\right) \leq C(a, b) \leq C T\left(a, b ; \alpha, k_{2}\right) \tag{4.18}
\end{equation*}
$$

Further, $k_{1}=k_{2}=\frac{3}{3-4 \alpha}$ is the best possible for 4.18.
Proof. From equations 4.2 to 4.15 , we have

$$
C T^{(d)}\left(a, b ; \alpha, k_{1}\right) \leq C(a, b) \leq C T\left(a, b ; \alpha, k_{2}\right)
$$

holds whenever, $\frac{(3-4 \alpha) k_{1}-1}{8} \leq \frac{1}{4} \leq \frac{(3-4 \alpha) k_{2}-1}{8}$
on rearrangement leads to $k_{1} \leq \frac{3}{3-4 \alpha} \leq k_{2}$.

Proposition 4.4. For $k_{1} \leq \frac{2 p}{3(3-4 \alpha)} \leq k_{2}$, the following double inequality holds

$$
\begin{equation*}
C T^{(d)}\left(a, b ; \alpha, k_{1}\right) \leq H_{p}(a, b) \leq C T\left(a, b ; \alpha, k_{2}\right) \tag{4.19}
\end{equation*}
$$

Further, $k_{1}=k_{2}=\frac{2 p}{3(3-4 \alpha)}$ is the best possible for 4.19).
Proposition 4.5. For $k_{1} \leq \frac{1-\alpha}{3-4 \alpha} \leq k_{2}$, the following double inequality holds

$$
\begin{equation*}
C T^{(d)}\left(a, b ; \alpha, k_{1}\right) \leq O(a, b, \alpha) \leq C T\left(a, b ; \alpha, k_{2}\right) \tag{4.20}
\end{equation*}
$$

Further, $k_{1}=k_{2}=\frac{1-\alpha}{3-4 \alpha}$ is the best possible for 4.20).
Proposition 4.6. For $k_{1} \leq \frac{r}{3-4 \alpha} \leq k_{2}$, the following double inequality holds

$$
\begin{equation*}
C T^{(d)}\left(a, b ; \alpha, k_{1}\right) \leq M_{r}(a, b) \leq C T\left(a, b ; \alpha, k_{2}\right) \tag{4.21}
\end{equation*}
$$

Further, $k_{1}=k_{2}=\frac{r}{3-4 \alpha}$ is the best possible for 4.21.
Proposition 4.7. For $k_{1} \leq \frac{4 \alpha-1}{3-4 \alpha} \leq k_{2}$, the following double inequality holds

$$
\begin{equation*}
C T^{(d)}\left(a, b ; \alpha, k_{1}\right) \leq C T(a, b, \alpha) \leq C T\left(a, b ; \alpha, k_{2}\right) \tag{4.22}
\end{equation*}
$$

Further, $k_{1}=k_{2}=\frac{4 \alpha-1}{3-4 \alpha}$ is the best possible for (4.22).

## References

[1] P.S. Bullen, Handbook of Means and their Inequalities, Kluwer Acad. Publ., Dordrecht, (2003).
[2] F. Holland, Some mean inequalities, Irish Math. Soc. Bulletin, 57(2006), 69-79.
[3] G.H. Hardy, J.E. Littlewood and G. Pòlya, Inequalities (2nd edition), Cambridge University Press, Cambridge, (1959).
[4] V. Lokesha, K.M. Nagaraja, B.N. Kumar and S. Padmanabhan, Oscillatory type mean in Greek means, Int. e-Journal of Engg. Maths Theory and Applications, 9(3) (2010), 18-26.
[5] V. Lokesha, S. Padmanabhan, K.M. Nagaraja and Y. Simsek, Relation between Greek means and various other means, General Mathematics, 17(3) (2009), 3-13.
[6] V. Lokesha, Z.H. Zhang and K.M. Nagaraja, $r^{t h}$ Oscillatory mean for several positive arguments, Ultra Scientist, 18(3) (2006), 519-522.
[7] K.M. Nagaraja, V. Lokesha and S. Padmanabhan, A simple proof on strengthening and extension of inequalities, Advn. Stud. Contemp. Math., 17(1) (2008), 97-103.
[8] K.M. Nagaraja and P.S.K. Reddy, $\alpha$-centroidal mean and its dual, Proceedings of Jangjeon Math. Soc., 14(3) (2012), 163-170.
[9] B.N. Kumar, K.M. Nagaraja, A. Bayad and M. Saraj, New means and its properties, Proceedings of the Jangjeon Math. Soc., 14(3) (2010), 243-254.
[10] S. Padmanabhan, V. Lokesha, M. Saraj and K.M. Nagaraja, Oscillatory mean for several positive arguments, Journal of Intelligent System Research, 2(2) (2008), 137-139.
[11] G. Toader and S. Toader, Greek Means and the Arithmetic-Geometric Mean, RGMIA Monograph, Australia, (2005).

